
 

www.jaxpety.com

User Manual

Model Number：HG61R1042
HG61S1043
HG61T1044

Scan ! To find more surprise!



1 2

You need 

Hardware List

A 26PCS4PCS B C E8PCS 20PCSD 2PCS

C

E

4PCS

4PCSD

2PCS

1 2 persons are needed 2 Take 30 minutes

30mins

www.jaxpety.com www.jaxpety.com
PRODUC T ASSEMBLY

STEP 1

STEP 2

  Check the package contents before getting started !

M8*35 M6*15 M6*35 M6*20  4#

M6*35

M6*20

 4#

1

2

3

4

5

5

4

6 *2

7

8 *2
9 *2

10*4

11*10

*2

6PCSB

E 1PC

M6*15

 4#

A

E

A

E

1

2 *2

E

C

D

E

4

5

5

4

6 *2



43

PRODUC T ASSEMBLYPRODUC T ASSEMBLY

STEP 3 STEP 5

STEP 4

www.jaxpety.com www.jaxpety.com

E 1PC
 4#

A 4PCS 4PCS

4PCS

B

ED 2PCS

M8*35 M6*15

M6*20  4#

E

E

E

A

B

D

3

4PCSB

E

4PCSD

2PCS

M6*15 M6*20

 4#

E

BD

E

7

8PCSB
M6*15

E

B

10*4



STEP 6 STEP 7

65

PRODUC T ASSEMBLY PRODUC T ASSEMBLY
www.jaxpety.com www.jaxpety.com

4PCSB C E4PCS 8PCSD 2PCS
M6*15 M6*35 M6*20  4#

E

CE

B

E

C

D

E

B
E

8 *2
*29

D

ED

E

D

E

11*10


